$) 5. 12 Python RS
# BIRFH O
import statsmodels.api as sm
import statsmodels. stats. diagnostic
# o
import matplotlib. pyplot as plt
# HAht
import pandas as pd
import numpy as np
plt. plot (changeXAUUSD, ’r’, label="XAU USD’)
plt. plot (shfeXAU,’ g’ , label="SHFE XAU )
plt. title( Correlation: ~ + str(correlation))
plt. grid (True)
plt.axis( tight’)
plt. legend (1oc=0)
plt. ylabel C Price’)
plt. show()
adfResult = sm. tsa. stattools. adfuller(data, maxlags)
output = pd. DataFrame (index=[’ Test Statistic Value’, “p-value”, “Lags Used”, “Number
of Observations Used”,
“Critical Value (1%)”, “Critical

Value (5%)”, “Critical Value(10%)”],

columns=[" value’ ])
output[’ value’ ][’ Test Statistic Value’ ] = adfResult[0]
output[’ value’ ][’ p-value’ ] = adfResult[1]
output[’ value’ ][’ Lags Used’ ] = adfResult[2]
output[’ value’ ][’ Number of Observations Used ] = adfResult[3]
output[’ value’ ][’ Critical Value(1%)’ ] = adfResult[4][ 1% ]
output[’ value’ ][’ Critical Value(5%)’ ] = adfResult[4][ 5% ]
output[’ value’ ][’ Critical Value(10%)’ ] = adfResult[4][’ 10% ]

result = sm. tsa.stattools. coint(datal, data2)

InDataDict = {’ InSHFEDiff’ :1nSHFEDiff, ” 1nXAUDiff’ :1nXAUDiff}
InDataDictSeries = pd.DataFrame (InDataDict, index=1nSHFEDiffIndex)
data = InDataDictSeries[[’ InSHFEDiff’,’ 1nXAUDiff’ ]]
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orgMod = sm. tsa. VARMAX (dataframe, order=(varLagNum, 0), trend="nc’, exog=None)
#hili vt A

fitMod = orgMod. fit (maxiter=1000, disp=False)

# ATEIGIHEE R

print (fitMod. summary ())
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resid = fitMod. resid

result = { fitMod :fitMod, resid’ :resid}



# R EER O, &#Ese: AER (VFRD

result = statsmodels. stats. diagnostic. breaks cusumolsresid(resid)

# orthogonalized=True, QR RKHTTHITHEAL

ax = fitMod. impulse responses(terms, orthogonalized=True).plot(figsize=(12, 8))
plt. show()
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sm. tsa. VAR (dataFrame)
md. fit(2)

fevd = re. fevd(10)
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print (fevd. summary ())

#

fevd. plot (figsize=(12, 16))
plt. show()



